(%)
=/u =
X n+ %
1. T # 4 B R P A L i 2 T
2. i T 3% fr KGRt ERT65—1
3. T 1 BRIGERE Hos 40 H4F 10H 31HET
CATERER )| o
CEE MUYoE (B ML odnE, NUT 7 —R L OFTER
CATANE Y | o
FAEEM ML UOE (B &ML oikidE, ST 7)— L DR
: bl CEPRIR, FEEEM ML SE (FnfiigsoreRIt)
GRS N |

CHEM ML e (nfigs e Ab)

bR A AR i T — o Bk i T — X




B PR A L s T T EAAS FE R N AR
waEt (LFR) & 129,992,500 [
T 5 fi #% 4 118,175,000 [
M Bl S AH 2 A & 11,817,500 4




ERERM M LREFLISE No.

% b 5 = # = B B i il 4]
RN X
I| #ETEHE 1] K 39,066,445
Bk T 1] 9,111,337
FMR R G T2 1 = 38,917,032
ERCERE ¢ 87,094,814
Hm
IR 1 = 3,645,736
B E 1 =K 13,756,161
— R 1 = 13,678,620
Fam 31,080,517
EFF 118,175,331
T EMmAS SREES A7t e 118,175,000
TH B Bl S AH 24 %R 11,817,500
A (L) 129,992,500




% ERERM A LREFLSE No.

% b i3] =z # 2 Bifg B i & 28
I |BEITS
A [BEE PR 1 3K 24,307,037
B (BRI 1 K 14,141,229
C |z /g 1 3K 339,724
D [#Edb/ R 1 K 278,455
&t 39,066,445




£ BERERM N LREFTISE No.
£ L 1 E Hf {iffi | I}
A B
BN L YE T

1 |EEERGR L 1 3L 961,392
2 |[BERESZETEHE 1 KX 4,392,870
3 |NERSE T 1 K 7,436,666
4 |BELETLE 1 KX 79,986
5 |Z2=vy K OZFOM T 1 K 8,756,721
6 |k 1 KX 2,679,402
At 24,307,037




£ BERERM N LREFTISE No. 4
£ L 1 E Hf {iffi | I}
B B RN
A 2B A L s T8

1 |EEERGR L5 1 KX 417,928

2 |[BRESZETEHE 1 KX 2,119,235

3 |NERSE T 1 K 3,902,590

4 |BELETLE 1 KX 38,685

5 |Z2=y K OZFOMTE 1 K 3,214,676

6 |fk-ng 1 KX 4,448,115
At 14,141,229




BERERM A LRESETIE

No.
% E7 i3] = # 2 Bifg =] i & )
iz B/
HEM LR THE
[EREIG A 1 3K 178,472
NE & T 5 1 = 35,360
HESIP U ¢ 1 K 125,892
&t 339,724




B W

BERERM A LRESETIE

No. 6
% E7 i3] 2  Hf i ) i
D |BEdb/ N
EER R SE T
1 |[EERGETE 1 &K 166,842
2 |NESETH= 1 =& 24,484
3 |E s 1 3K 87,129
&t 278,455




B St A L SOE S T8 [FPeaR] No.

4 g i o ¥ B Hfr Bl & K
R aE L
A |BEE PR 1 X 5,649,790
B [B{E/NERE 1] K 3,124,647
C |lhZz /R 1 =X 200,960
D BRI 1 =X 135,940
&t 9,111,337




£ By B P P il A U s S T (B P PiR) [FFNER] No. 3
4 g i o ¥ B Hfr Bl & K i
A R EER
PR oE T
1 | BT T F
AT R 1-1) BT R Y 49,620
1-2) 4T oyl = 4,242,100
1-3) 2B Ry 2V 1,082,150
2 BN T
AL I A B i FA VI 55 i = 177,120
3 |G SRk L
TR L& TR T 2V 98,800
&t 5,649,790




% FF B P P A L B S T (B o/ NVRAR) [FPeaR] No.

4 g i o ¥ B Hfr Bl & M
B |BLE/INFERE
PSRN LSS TF
1 | BT T F EELiv
BT %A 1-1) BT R 1 =X 515,957
1-2) 4T oyl 1 KX 1,937,950
1-3) 3B My 1] K 404,050
2 BN T B HLAH
AL I A B i FA VI 55 i 1] K 233,310
3 kSN R L Eg=r
EEIPNNE S H #h ok SR AR A 1] &K 33,380
&t 3,124,647




4 B e ARt A L S0E S T (2 B/ [FPeaR] No.

4 i i b ¥ B | Hf7 B M & M
I |EXHELHF
1| AT T EHPR AL
1) BT 7% A 1)zt Myl 1 =X 41,250
2 PR
1) AT 3 fi 1) 2 BU Ry 1] &K 159,710
&t 200,960




£ By WEPERMMM L SoEE T [FFNER] No.
4 i fii E2) ¥ &\ | BT Bl & H i
D [#fEAb/Ems
HEH AL ETEHE
1 [EEATE A L B FE AR

AT R 1- D AT 5yl e 14,620
1-2) 2B MMy = 91,320
pen 135,940




4 W RLE A A L SaESE T8 No.
% P i o % BT B A & fii
I (FAEx D 5

M1 [ =242
1| fEAEgs R 1 KX 9,029,720
2 | FaKEXA 1 K 3,352,201
3 | HEAKERAE 1 KX 8,755,085
4 | MR 1 K 121,880
5 | AR 1 K 836,730
6 | WELEFE 1 K 2,645,710
N 24,741,326

M2 B /N
1| s Bk 1 =K 3,582,030
2 | KR 1 KX 1,243,503
3 | HEAKERAH I 3,446,451
4 | HRER R 1 KX 120,620
5 | B AR 1 K 159,652
6 | MELEF - 1,134,315
/NeE 9,686,571




£ By B R A L e A T No.
4 g T L2 e AL 4 A i

M3 |1z B/
1| A gs Bkl 2V 2,132,080
2 | KK = 81,822
3 | ®WETHE 2V 346,628
INEE 2,560,530

M4 (B2 Al N
1| fAs Bkl 2V 1,599,060
2 | HEKERA = 63,243
3 | ®WETHE 2V 266,302
INEE 1,928,605
&t 38,917,032




